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o FU g I T fF 3T FeT9F T FRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 FE TR oI G #H
B V-Gl & JE-J U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F TV [0GT & FT G GEl, HT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4803/(Set : B)
o FTCYRTHE % T 7 @l g/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o JUTyRTHE % GfaRFT #F o dic TE Al o
STETETFE & [E SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS YT T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J97 F FT 37 @ {4 I8 GvEd B T [ JeTGH
g7 g @& 8, T # W 39 g9 7 FE 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T a8
All questions are compulsory.
(i) 5 997-97 4 F7 32 §o7 & ol [ G 7] I
F§TINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:
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G &5 GF F1 716 7% ZT 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 357 % F17 §21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 F97 &,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FT 5 F97 8,
J9% J97 5 31F # 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & go7i 7 oyi® Rwey [T 1@ &
37 @ Q& 797 & T 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4)  4803/(Set : B)
gus - A
SECTION - A

1. o.1o4aﬁ§%wﬁaﬁﬁﬁm 1

Express 0.104 in the form g

2. 4x% - 4x+1% & ¢ : 1

(A) A A
(B)
< 1

(D) T 1

A -5,-5
(B)
© L
D) -, 1
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3. x—y=3,§+%=6aﬁaﬁraﬁml 1
Solve :
Xy
x-y=3, -+==6
Y=< 37,
4. HT-G1 T I A. P. 2 ? 1

A 1,2,4,8, .......

B) 5,8, 12,15, ......

() 3,6,9, 12, ......

(D) T & Hig T

Which one is an A. P. series ?
A 1,2,4,8, .......

B) 5,8,12,15, ......

C) 3,6,9, 12, ......

(D) None of these

5. 7,10, 13, 16, ...... A.P. 3 1297 U5 G HiOMT 1
Find the 12th term of A. P. 7, 10, 13, 16, ...... .

6. HCh H RU &) § | T& AKT H T4 HA 8, R

WM & AR 1
gl @t o B Bl (qerem, watmew)
4803/(Set : B) P.T.O.
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(6)  4803/(Set : B)

Fill in the blank using the correct word given in
bracket :

All squares are ............ . (similar, congruent)

7. & TIEY DS H YEeT # UG 3 : 58, Al o

BBl B ST © 1
(A) S5:3 B) 9:25
(C) V3 :45 (D) =78 g &

Sides of two similar triangles are in the ratio 3 : 5
areas of their triangles are in the ratio :

(A) 5:3 (B) 9:25

(@) J3 5 (D) None of these

8. IR DE|| BCAR AD:BD=2:3, Q1 8% (AADE) :
8% (AABQC) ® : 1

(A) 2:5
B) 3:5
(C) 4:25
(D) 2:3
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If DE || BCand AD : BD = 2 : 3, then area (AADE)
: area (AABQ) is :

A) 2:5
B) 3:5
(C) 4:25
D) 2:3

9. % g 4 TF g0 W @l W il a6 4 8 R
g gq & &= @ g0 5 O 21 99 @ B 79
HIfeTq| 1

The length of tangent from a point which is at a
distance of 5 cm from the centre of circle is
4 cm. Find the radius of circle.

10. (-5, 7) iR (-1, 3) fagett & 99 &t g0 o v 1

Find the distance between the points (-5, 7) and
(-1, 3).

11. IR 0F WETS H & B 0@ &g & Sew 79§y
(1,0) %, TR RR &1 FRwis w1 Hifm 1

If origin is at one end of a line segment whose
mid point is (1, 0), find the coordinates of other

end of segment.
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12. 1020 @ g o difm 1
cot 64°
Find the value of ﬂ.
cot 64°
13. ZlﬁsinAzg, Wtan A B : 1
4 3
A) — B —
(A) 3 (B) 77
4
C) —— D) 378 ¥ %ls ol
(€) Ned (D)
. 3 .
If smA:Z, then tan Ais :
4 3
A) — B —
(A) 3 (B) 77
(©) il (D) None of these
J7
14. 6 §Hl BT O U g9 @ BeurEvs & &F%d S

FHITT ST BT 60° B 1

Find the area of a sector of a circle with radius

6 cm, if angle of the sector is 60°.
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(9) 4803/(Set : B)
15. TEE ST B STER H A 2r § a1 I SHas h

g, Tl IO A © 1
(A) 2nrh

(B) 2nr(r+h)

(C) nrh

(D) T @ &) Tl

The diameter of the base of right circular
cylinder is 2r and its height is h. The total
surface area is :

(A) 2nrh
(B) 2nrr(r+h
(C) nr’h

(D) None of these

16. UH 9@ § 3 il g, 2 g%e AT IR 4 I AT &1 IR
% T I | aghes FEr o E, O gae 99 e
%l wifeear @ B ? 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Blue ?
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17.

18.

19.

20.

(10) 4803/(Set : B)
gus - §
SECTION - B

Rz HIT % V3 Th FAURAT HE&A B 3

Prove that \/§ is an irrational number.

ERAE p(x):3x2—x3—3x+5 &l EERE
gx)=x—1-x2 B TR AFT FIOW AFHA MR ATHA
EIREEAIE 3

Divide the polynomial p(x)= 3x2 - x3-3x+5
by the polynomial g(x)= x-1-x2. Find the

quotient and remainder.

CM 3R RN FHY: AABC 3R APOR &1 At § Iy
AABC ~ APQRE, @1 fa=s #ifote % : 3
AAMC ~ APNR

CM and RN are respectively the medians of
AABC and APQR. If AABC ~ APQR, prove that :

AAMC ~ APNR

s #ifeg - 3

cotA—-cosA cosecA-1
cotA+cosA cosecA+1
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21.

22.

23.

(11) 4803/(Set : B)
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

gq P G T 8, ST IR 11 T G 9 B
9T & e & 7 3

What is the area of the circle, the circumference
of which is equal to the perimeter of a square of

side 11 cm ?

qis - 9

SECTION-C

Z+§:13 and E—i:—Q
x Yy X Yy

T IEMEI TF G9F 9§ 360 & @ g @ H
21 A 7' 9@ 5 fRH/gver o B, o a8 SE aEn
g 1 HeT %9 98 qall ISl oA g died 4
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A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for the same journey. Find the

speed of the train.

24. A.P.:9, 17,25, ...... 3 fha ug fom o, i SR
T 636 & ? 4

How many terms of A. P. : 9, 17, 25, ...... should

be taken so that their sum is 636 ?

25. el 9@ g @ 99 W 9 T s et @ el
TR el B, frs #if 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

26. 39 g & Fegi® @ #ifw N rgett (4, -3) &Rk
(8, 5) HI S A @IS P idRe €4 § 3: 1%
ST ¥ fasiord FRa B 4

Find the coordinates of the point which divide
the line segment joining the points (4, —3) and

(8, 5) in a ratio 3 : 1 internally.
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27.

28.

29.

(13) 4803/(Set : B)

Th g/ H 4 99, 3 % X 2 @@ F (marbles)
T AR T T § q OF Pl AGHAT WP S &,
THH FT WA B % g8 & (i) 9% © (i) e B
(iii) ST B 4

A box contains 4 blue, 3 white and 2 red
marbles. If a marble is drawn at random from
the box, what is the probability that it will be
(i) White (ii) Blue (iii) Red.

gle - T
SECTION-D

of o F W @ R & ' 5x% -6x-2=0 @
&1 i) 5
Solve the equation 5x2 -6x-2=0 by
completing the square method.

5 &, 6 Tl AR 7 AW Geel i T B[S &
HIT AR 3% TIEU TH I B B @A A

Rt st R 3¢ Byt & & el @~ e A
5
5

Construct a triangle whose sides are 5 cm, 6 cm
and 7 cm and construct a similar triangle whose

sides are %th of the corresponding sides of

given triangle.
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31.
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(14) 4803/(Set : B)
g #IfT - 5

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

Prove that :

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

AYqT
OR

Th T H J0 b TH Sg d T b g BN @
ST HOT A 30° AR 45° B AR g REARE /3
HIeX i S W &, A T4 H AE G Bl

From a point on a bridge across a river, the
angle of depression of the banks on opposite
sides of the river are 30° and 45° respectively. If
the bridge is at a height of 3 m from the banks,
find the width of the river.

T T Th GEd AT & STHEX H & PEd IR
Th GEe o TR Bl TN @ A 14 S &
AR 30 T H FA HaOB 13 T B 3G T @
ARG TR &83%d Fd HioTd| 5
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(15)  4803/(Set : B)

A vessel is in the form of a hollow hemisphere
mounted by a hollow cylinder. The diameter of
the hemisphere is 14 cm and total height of the
vessel is 13 cm. Find the inner surface area of

the vessel.

32. HRaa arel | I &9 & fqameal | Afear farewhi
% U S @l Sl 81 afear et & are ufde
S i 5

aigar faem #1|15-25|25-35(35-45|45-55|55-65 | 65-75 |75-85
fcrer

A @ e 6 11 7 4 4 2 1

The table below gives the percentage distribution
of female teachers in the schools of rural areas.

Find the mean percentage of female teachers :

Percentage of | 15-25|25-35|35-45|45-55|55-65|65-75|75-85

female teachers

Number of 6 11 7 4 4 2 1

areas
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(16)

AYqT
OR

4803/(Set : B)

fr=ifafad SRR de7 et Ao & Ao & Tifees
GUd AT 31 39 S H G ST HINTT

i @ud | 65-85

(gt 9)

85-105|105-125|125-145

145-165|165-185

EREICHIEA 4
T d@eE

S 13

20

14

The following distribution gives the monthly

consumption of consumers of a locality. Find the

median of the distribution :

Monthly 65-85(85-105|105-125(125-145{145-165|165-185
Consumption
(in Units)
Number of 4 5 13 20 14 4
Consumers
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